H-HMC& £ 51X

H-HMC hydraulic motors

1. F=&%% 4/ Product Feature 88
2, PmixiR#EA/ Ordering Code 88
3. BIES 4]/ Example 88

5. Z¥ERL#EE R~/ Installation Dimensions

H-HMC100% %I/ H-HMC100 Series 89
H-HMC125% %I/ H-HMC125 Series 93
H-HMC200% %I/ H-HMC200 Series 100
H-HMC270/325% 5/ H-HMC270/325 Series 107

87



H-HMCZ%!/H-HMC Series

HiE@ EC

FE 4% &/ Product Feature

H-HMC R 37 E B A B H 2 T EH-HMBR S B 7l _E R a2 6 XHE
REFEAREREDE, HERTHHMBRIIBETHNRAE, BER
H-HVBRIIF N ENE, BRMIEE. SFRYEE,

H-HMCR IR EDZREFNHRINGE, FTMUNEREEMHHEE P
BERTFEMERRROHSR, TLLUETZEER. BRI Fh
PIRRLMHEEHODNR, FFETNEDRIZHPEAMBMALI,

HEFEH$S0T:

o RiEAILE;

o BME;

o IEF TR

o BHETE BT HHIERE;

o AJTEIT R ITHER D3R,

o ALAIFREDIR. Fhik. BIRAR,

F=amtRiRiE AR / Ordering Code

H-HMCseries' dual speed hydraulic motor is an upgrade of theH-HMB
series low-speed and high torque hydraulic motors. It inherits the
H-HMBseries hydrostatic balance structure, and is features with high
efficiency, high starting torque,high volumetric efficiency,etc.

H-HMC series' dual speed hydraulic motor enables users to select
displacement in a wide range for special working conditions. Users
can switch the displacement by using a remote control or manual
control,with control valve mounted on the motor.The displacement
can be switched easily while the motor is running.

Main characterstics:

* Low speed, high-torque;

¢ High effciency;

e Stable performance;

* Wide-range option of displacement;

* Switchable displacement while the motor is running;
* Switch option: electromagnetic, manual, automatic.

ootk sk _ stk ok skeokok_skeokok_skeokok_skokok k%

H-HMC XU JE Bi% 5/ Model —- EHMC
&S/ Type
KHEE/ Large Displacement

J\HEZ/ Small Displacement
i H$hF R/ Shaft options

Ly SRty

a. PERTAFEM

b. TERRAHM

c. SERASNER

d. QFTRAMLE
it it O £/ Distributor

P —— Parallel keyed shaft
T —— Taper keyed shaft
S —— Spline shaft

Q —— Female spline shaft

P13 18 #) 2 BY/ Switch valve options
* F#2%I/ / Null control valve
E Fa%432 41 1% / Electromagnetic control valve
M FzhiZ %18 / Manual control valve
Z B3h2iEig / Automatic two—speed switching valve

L 38 %1% ¥4 B 5h2i% ¥ / Mandatory automatic low—speed switching valve

W F4% 25 i3 i /continiously variable valve

V 38 4R % It & 35 % #¥/continiously variable transmisson valve with low speed enforcement
FEAR (FERIZHIFEIEE ) / Variable control ( See control schematic ) —

FIS245) / Example

IH-HMC[ 200 |31oo [ 1oooIs71 ] Fo2 ‘ M ‘ C |

xRS/ Model H-HMC
BE/ Type 200

K HER/ Large displancement 3100 ml/r
1 {EE/ Small displancement 1000 ml/r
5t %4/ Shaft S71

i# il QAR Distributor F02
3% 18 692 Y/ Type of switch valve M

T EIZH AR/ Variable control (63

I I -

ONH-H



H-HMC100&%%!l/H-HMC100 Series

AR S# / Technical Specification

BNHE
Nominal mifr 1600 | 1500 | 1400 | 1300 | 1200 | 1100 | 1000 | 900 800 700 600 500 400 300 200 100
Displacement
H=
Displacement ml/r 1580 | 1481 | 1383 | 1284 | 1185 | 1086 | 987 889 790 691 592 494 395 296 197 | 98/0
%{Iﬂﬁ N.m/MPa | 225 212 198 184 169 155 140 125 108 94 78 68 45 30 18 0
Unit torque
=2-1:353 )

r/min 240 260 280 300 330 370 405 485 540 540 540 540 540 540 540 900
Max. Speed
HMEhE
FEE) [Fan KwW 102 98 93 92 93 90 86 83 73 64 53 46 31 20 9 0
BANE KwW 127 123 116 116 117 113 108 103 92 80 66 58 38 25 1 0
Max. Power
FEEN
(=) (Flisua MPa 23 23 23 23 23 23 23 23 23 23 23 23 23 23 23 149
BREN MPa 275 | 275 | 275 | 275 | 275 | 275 | 275 | 275 | 275 | 275 | 275 | 275 | 275 | 275 | 275 15
Max. Pressure < . E E - . . g ; : i . d ! J j

* H-HMC 1004E 2 #Y1%E+E S5 B/ H-HMC 100 displacement options
AHEE A / Large Displacement: 1600, 1500, 1400, 1300, 1200, 1100, 1000, 900, 800;
INMEE S / Small Displacement: 1100, 1000, 900, 800, 700, 600, 500, 400, 300, 200, 100, O

=4I FEIEE / Control Schematic(4##34xi2/Ordering Code 8):

o ShEE o PCHMzR . RERER
Control by external Control by port pc Control by A or B
AP Pl A A P2
T 4
T
. _} DR
/o | L //7 ‘#1
i ‘\ B A B
.
| | L#% >- %4
* —X
] G I
Al P1 BITI
AQREE BAMEER

" Control by port B

Pl A A P2

s IR [ ——



H-HMC100&%4l]/H-HMC100 Series

H-HMC 100 42K 2%& R 51/ H-HMc 100 Installation Dimensions

i# it O AF01 A9 R4 R ~1/With FO1 Distributor
5—020 #i/equi spaced

% %<il/meunting holes

2-G1/2" *o e Mount Ingfface %—QS\Y - SEIE/P.C.D 327£0.2
il O /Drain port
46.5 : O
30.2 T + . )
|:D = N\ ba0) Rotation
—{-0 [0 | 4L mi6 \ direction
Jd_.ﬂ N ‘ 5 = e ii/Flow direction
3] o| ce
1@ F g
i == e}
‘ gif | s <
& 3 H <= <= ill/Flov direction
o 1 52 s J  roas
2— ) e [ Rotation
6&" 3 /] 5 2 direction
8-M12x27 30. ] 20
@) =
50 174 24 87
143.51
350.5 #368MAX
397

*ORNEBLUNF3/4"-168 k/Option: UNF3/4"-16

OWH-H

T Ei%1 7 r1% 3 R ~fF/Variable Control Dimensions smssordering code 8)

=P F3 . . . . .
ARYZ % R~F/Dimensions B&C&D K% R~t/ Dimensions
31
A 222 Ty
o >
= 4-M5x11 12
o) .
= Y
\ r\ | ]
uwy
i & | <y
o
2 Gl/4”><£ g 0
S 174 zc?g;;:£;|;;erface- \
Tawm/ 20/4x15 | e
mounting face .
32.5
174 o
T,

mounting face

I R ¢



H-HMC100%%!l]/H-HMC100 Series

H-HMC100 % 3R %35 R </ H-HMC100 Shaft Options mssssrordering code )

H-HMC100-P71 H-HMC100-S71*&S72*
"
Eo
& fE8#/Spline:
' — RMR /ey size S§71* BS 3550-1963
— 1810937 id K71 pressure angle 30°
1 12“3 ?‘]‘gy?;?ici // # ¥ number of teeth 14
RS 4 pitch 6/12
70 4 K% major diameter  62.553/62.425
it L WIFLRMMA forn dianeter  55.052
/%2 minor diameter 54.085/53. 525

] W E pin diameter  8.128
- —=—1t14r+—T WM EE dianeter over pins
71. 593/71. 544

J- 54 S72* DIN 5480 W70 X3X 22X 7h

o g 28
| °f oo |
1359, © N 13584
% ¥:[H /mounting face % $:0fi/mounting face
H-HMC100-Q71 H-HMC100-T71

o
71 %56 9
oo
I+
2952, 6.4
o P iE42/Female Spline:
Q71 BS 3550 SR /key size
FENfA pressure angle  30° 19901 5o
%% nunber of teeth 24 #0505)
27 pitch 12/24
~ K#2 major diameter 53. 246/52.916
3 /M minor diameter  48.811/48.684 NE
9.9 Iy B S S E R pin diameter  3.658 "y ol %
— Sl w| 0 WEHIMAR dianeter between pins — 0 N8
st = 45, 626/45. 550 9 |2
S ’ ’ Sy o=
rg S X
17
+1.5 M42x2
799 827
-0.6
12
165 | 61 ST @R slotted nut 45.2
B thick 57.15 A/F
Z ¥ /mounting face 3 Mounting face
=1: 10

R S714/S72" AFRAETERH
Notes: S71*/ S72*=Standard Spline Shaft

o I —



H-HMC100&%4l]/H-HMC100 Series

H-HMC100 4 B =23 R~/ H-HMC100 Installation Dimensions

it i O A FO1BAY Z 3¢ R~/ FO1B Distributor

=
O

1|
(o'

2—940.6
2—932.8 ﬁ &
7
3 D_
Yy
5 | |
hqte
g
A :
b
‘ ‘ RIS ]l-_'
| | T
| | =<
I 2
! ! 396
i | 322.5
| |
—
8.9 an =08
6—M10x16 /
i
© © D
Oﬁ"
=
° T oA
27@28]
68:3
129

I — o



H-HMC125%%1/H-HMC125 Series

F AR S 4 / Technical Specification

£ X HEE /Nominal
Displacement
THRIR/Ordering mi/r 2100 | 2000 1800 1600 1500 1300 1200 1000 830 670 510 350 180
Code 34
’ Ha mi/r 2066 1973 1811 1649 1487 1325 1163 1001 839 677 515 353 191
Displacement | | | | | | |
BArHLE
Unit Torque N.m/MPa 293 281 258 231 206 180 154 125 100 79 57 39 6
B A REF0t r/min 169 188 204 223 246 265 305 350 395 485 540 540 540
Max. Speed
RERIEF02 r/min 220 245 265 290 320 320 320 320 320 320 320 320 320
Max. Speed
EhE
Rated Power KW 105 105 105 105 97 84 72 59 47 37 27 18 3
BAThE
NE P awer KW 132 132 132 132 121 106 90 73 59 46 33 23 4
HE RS MPa 23 23 23 23 23 23 23 23 23 23 23 23 23
Rated Pressure
BEEN MPa 2725 275 2 s 275 27:8 275 27D 275 205 275 275 27.5
Max. Pressure ’ ’ ’ ' : ’ ' ’ ’ : ' ' :

* H-HMC 125HE B #1%$%SE B/ H-HMC 125 displacement options
K HEE # / Large Displacement: 2100, 2000, 1800, 1600
/ZHEE 24 / Small Displacement: 1600, 1500, 1300, 1200, 1000, 830, 670, 510, 350, 190, 110, O

1= I [RIE & / Control Schematic(%if3#5xi2/Ordering Code 8):

MR _ PCHMzRY W AR
Control by port pc

~ Control by A or B

" Control by external

AP Pl A AP Pl A A P2
Liom
v | Iy
i I B
|
AOREE BO py#zEl

" Control by port A

Pl A AP

o3 IR T .



H-HMC125%5l/H-HMC125 Series

H-HMC125 4P 2 B 223 R <1/ H-HMC125 Installation Dimensions

1 it O A FO1#I%R%E R <F/With FO1 Distributor

5— @21 ¥ /equi-spaced
WAL mounting holes
4yEE/P.C.D 419.14+0.2

— "%
?ﬂ‘iﬂ]g;dra?n pos)t %2451 /mount ing face 9575

— A
46.5 b { %
<l 02 -+ o @ \ s rorotion
N~ = = direction
00|~ M16 \ <ommm g1 /Flow direction
mno't E ~ / k
rg) i - o= [ aIRl
g% 0 e
f - =5 °|S
2 / S <—  <—j#i/Flow direction
2-832 /] _
8-M12x27 : — 5 * ) e in,
52 | |
= -
0 21 135.5
333 44.4(STFD125—%) 165
426.5 55(STFDHD125—*) BATIMAX |

DTk ERUNF3/4"-16#3k/Option: UNF3/4"-16

OWH-H

IR X RIE R ~F/Variable Control Dimensions o s

ARyZ#: R~/Dimensions B&C&D#IZR % R ~F/Dimensions
31
N N
27.2 4-M5X11 L 0
2 17 = T
i Y (3
17\ f\é @
| - ol !
(c © »
° o —
2-G1/4" X 15 Prslmn };ﬁ
Control interface
2-G1/4" X 15
/\/ 203 S \
FE T/ 11.25
mounting face
32.5 203
EREHE/

mounting face



.. H-HMC125%%I/H-HMC125 Series

H-HMC125 % 4hAY %3E R <t/ H-HMC125 Shaft Options@sizizorering code 5)

H-HMC125-P71 H-HMC125-S71*&S72*
"
=
2: BIR T /key size
P i = JE8/Spline:
167> B thick S71* BS 3550-1963
T3 JEJ1# pressure angle 30°
90 3 number of teeth 20
S 45 pitch 6/12
K42 major diameter 87.953/87. 825
WiFFEALME form diameter  80.264
e — /M2 minor diameter 79.485/78. 925
MEE pin diameter 8.128
PEHMETR diameter over pins
97 = 97.084/97. 030
5 2
o‘? 3 §72% DIN 5480 W85 X 3X 27 X 7h
NS 11449,
1449, 2
2% /mount ing face 2440l /mount ing face
H-HMCHD125-Q71 H-HMCHD125-S73
8
= So 1£8/Spline:
* 10-92b12 X 82b12X 12f8
e
<o)
'S | s3E#/Female Spline: Kl
Q71 BS 3550
[EJ1f4 pressure angle 30°
%% number of teeth 34 . )
45 pitch 12/24
Kf& major diameter 74. 414/74.018
/M% minor diameter 69. 977/69. 850 95
25.4  #HE%R pin diameter 3.658 J
MMM E R diameter between pins
66. 744/66. 815
- 104.5 2059,
93.594
22l /mount ing face ZH i /mount ing face
H-HMCC125-Q71 H-HMCHD125-T72
ol ol
&g 89
fele) o0
1 +
N ~
o~ o~
o 120:3 6.4 L 8
N — gﬂ‘”{ﬂ‘/key size - AR /key size
o) 22.208 % wide 22258 % wide
S8 163% M thick 55 5 1609 M thick
S —
T+
0 K[ 0 o
i = i3 3 3
i DR A= 2 i 1 g
~—1] o B g o
o Wi i % oS
sl o E sl g E
12 M42x2 J 12 M42x2
- FFHH9REE slotted nut - FFMRE slotted nut
B I thick 61 I~ 85.2* 1| & thick 61
75715 65 A/F ‘ 65 A/F
197.4 6
185 |61 oL
[T /mount ing face %3 /mounting face
=11: 10 =1: 10

FERE: S71%/S72* AR
Notes: S71*/ S72*=Standard Spline Shaft

o5 [ T



H-HMC125%%!I/H-HMC125 Series

H-HMCHD125-P72 | H-HMC125—-P73 ‘
O? BT /key size Né
Q u i;o )R <F/key size
N

258 052 B wide
- 149, K thick = 24°3 %% g8 wide
— 16"0% M thick
166 —=
.5 114.3 l
K __________ D? 1

sl 8
B1281
J 97 =
175 O$ 3
~
i ! S
233-1.5 ]78_01_2 i
51 /mounting face &4l /mount ing face
H-HMC125-P76 H-HMCHD125-T73
8
?o
< BAR T /key size
o~

249 B wide
169" M thick

——— -

IR /key size
22,240 & wide
163% JE thick

ONH-H

895.3

]
o - i )
=1 =
ISEEA n[12 Nwazez
- ©
B o : 984 © | | E - ?ﬂgﬂfﬂ slotted nut
G ¥ifi /mounting face A 1 thick 61
52 S 65 A/F
172 61
P /mounting facs
=1; 10
H-HMC125-T75
o~
Ky
o
o~

2100
(RIBONEDAY)

2110

\—M42X2

|— FFMBRE slotted nut/§
I 104 thick 61, 65 A/F

— BERT/key size
28005 B wide
= 189 & thick
| I

FERE: ST1%/S72* AtRAEEEH
Notes: S71*/ 872*=Standard Spline Shaft

237.5 61
[ i /mounting face

=al: 10

N I -



H-HMC125%%!l/H-HMC125 Series

H-HMC125 4 R L3 R~/ H-HMC125 Installation Dimensions

# i O A FO2BRY 2% R <F/ FO2B Distributor

9254
84
2-2.7
ting fi

%30 /mount ing face

476

S59

ool | -
T T
| : 50.8 \l@
6—-M10x16 \]
138

o7 I I I —



H-HMC125Z&%l/H-HMC125 Series

H-HMC125 4pME R 23 R~/ H-HMC 125 Installation Dimensions

ik O A F01BRIR % R <1/ FO1B Distributor

)
q
2-¢406 R
2-¢32.8 ﬁ &
. - Z / E
® &
3 J | | ( 2
S ]
e
| :
! | \ K T
1
| I
| ! <
| | O
| | 425
T T
] | 352
| |
50.8 | 50.8
8.9
6-M10x16 p
/
- o o
ol ¥
1\2‘17 .
oo/
2-¢28
60.3
129

I D o:



H-HMC125%%!l/H-HMC125 Series

H-HMC125 SME R 23 R~/ H-HMC125 Installation Dimensions

i O A FO2Ry % 35 R <t/ FO2 Distributor

S | J[
5 I
G M | 4—
7] @
aa Q
-]
o
g
?{}l— =
0 3
N £
=t
o
kS
347.2
477.2
<
o
™~
00
N~
00
Of g .
. )
o
M)
8-M16 %35
2-938 79.4

99 T RR RN AR A D)




H-HMC200%4%!]/H-HMC200 Series

F AR S# / Technical Specification

2 X HEE /Nominal

b T mir  [3100 | 2900|2800 | 2600 | 2400 | 2300 | 2100|2000 | 1800 | 1600 | 1500 | 1300 | 1200 | 1000 | 830 | 670 | 510 | 350 | 190 | 110
4RHEHRIA/Ordering

Code 34

AR mir | 3080|2958 | 2796 | 2634 | 2472 | 2310| 2148|1973 | 1811 | 1649 | 1487 | 1325 | 1163 | 1001 | 839 | 677 | 515 | 353 | 191 |109/0
Displacement

LR N.m/MPa | 447 | 422 | 400 | 375 | 351 | 326 | 300 | 281 | 258 | 231 | 206 | 180 | 154 | 125 | 100 | 79 | 57 [ 30 | 6 | ©
Unit Torque ‘

BEHRIEFO1 Mmin | 110 | 115 | 125 | 135 | 140 | 150 | 160 | 175 | 190 | 210 | 230 | 265 | 305 | 350 | 395 | 485 | 540 | 540 | 540 | 900
Max. Speed

BERIEF02 Mmin | 155 | 160 | 175 | 190 | 196 | 210 | 220 | 245 | 265 | 290 | 320 | 320 | 320 | 320 | 320 | 320 | 320 | 320 | 320 | 900
Max. Speed

BENE

I KW | 115|115 [ 115 | 112 | 108 | 108 | 104 | 101 | 100 | 98 | 97 | 90 | 83 | 67 | 54 [ 42 | 31 |16 | 3 | ©

A= KW | 145 | 145 | 145 | 140 | 135 | 134 | 130 | 126 | 125 | 123 | 121 | 113 | 103 | 84 | 67 | 53 | 38 | 20 | 4 | ©
Max. Power

EES) MPa |23 |23 |23 |23 |23 |23 | 23|23 |23 |23 | 23|23 |23 |23 |23 | 23| 23|23 |23]15
Rated Pressure

BREN MPa |27.5|27.5|275|275|275 |27.5 | 275|275 | 27.5 | 27.5 | 27.5 | 275 | 27.5 | 27.5 | 27.5 | 275 | 275 | 27.5 | 27.5| 1.5
Max. Pressure

* H-HMC200HF & H)i%HFESE B/ H-HMC 200 displacement options
KHEE Y / Large Displacement: 3100, 2900, 2800, 2600, 2400, 2300, 2100, 2000, 1800, 1600
/INHEE S / Small Displacement: 2300, 2100, 2000, 1800, 1600, 1500, 1300, 1200, 1000, 830, 670, 510, 350, 190, 110, O

OWH-H

=4I| IE & / Control Schematic(4%5f347iR/Ordering Code 8):
Sy

~ Control by external

APl

_ AOREER
Control by port A

Pl A AP
DR

T

A B

|
PC U—JI‘——W——T—%J PC
Lo ol
Al Pl BT

PC4hMz=EI

W EAEE

" Control by port pc

AP

- BOmER
Control by port B

AT

"~ Control by A or B

Bl 11

Al P1

AP



__ H-HMC200%%l/H-HMC200 Series

H-HMC200 4ME R 23 R~/ H-HMC200 Installation Dimensions

# H i O A FO2/) %2 3¢ R <F/With FO2 Distributor

X /nount ing face

5— @21 #yi/equi-spaced
2560 ii”z%ﬂ_,iwuutlilnx holes
SMEE/P.C.D 419.140.2
90
N1
2? 0 - i R
h & N \ﬁ@ Rotation
< S/; =i} 4 o direction
0 g M16 gg ] / o \\E \ e g i /Flow direction
3 w| L ol @ t i |
S A © S AT -
% i \ S /EJ / < <= <= #§/Flov direction
p=% < b
FeFl Rotation
8—M16x35 23 Ny direction
2-938 e .
21 ] N 4
32(STFD200—%) 135.5
4 TFDH —*
2(STFDHD200—%*) R
2473MAX
*DATEELUNF3/4"—16%:L/Option: UNF3/4"-16
B4 A A% % R~/ Variable Control Dimensions @asosemsees
AHyZ23& R~<t/Dimensions B&C&DHIZ& % R ~F/Dimensions
31
N e
27.2 4-M5X11 2 g
(L) — <
- 17
(3
%9 | _ | ]
I7Z
SO i 2.
Control interface
/\/ 2-G1/4"X15
ilx29
216
BREH/ 325 | 218
mounting face
EHm/
mounting face

ot I [ —



H-HMC200&%!l/H-HMC200 Series

H-HMC200 ﬁtﬂiﬂiﬁ’ﬂi‘c%ﬁﬁﬂ'/ H-HMC200 Shaft OptionS(ﬁ%iFJOrdsringwde 5)

H-HMC200-P71

o
]
o
g WRR ey size
3 243" 5 vide
165% B thick
-
5
5| ©
o? o
H
S oo
0 ES
13152
R /mounting face

H-HMCHD200-Q71

0
— o
?o
B3
<o}
'S | —— ME@/Female Spline:
Q71 BS 3550
7 /4 pressure angle 30°
- ## number of teeth 34
#4 pitch 12/24

X% major diameter 74, 414/74. 018
/NZ minor diameter 69. 977/69. 850
25.4 MEER pin diameter  3.668
MHBPER diameter between pins
104.5 66. 744/66. 815

80.59,

%l /mount ing face

H-HMC200-T71

oM
<9
fola]
+.F
N
o
o 120, 6.4
= = [/:a’mwkey size
00 22. 200 % wide
S8 1638 ¥ thick
[ele)
++
['p)
° =
= * : ji}' . :rr é
— v ™S
1 (o)) 7o) g
St ol g
12 AN yaon
- FHUIREE slotted nut
I thick 61
60.7% 65 A/F
172 61
[ 4% Ml /mounting face

==1; 10

ERE: ST1%/S72* AR S
Notes: S71*/ §72*=Standard Spline Shaft

H-HMC200-S71*&S72*

FEg2/Spline:

§71* BS 3550-1963
IEJ1#4 pressure angle 30°
%% number of teeth 20

#4% pitch 6/12
K% major diameter 87.953/87.825

| WiFFLLIRHAME form diameter 80,264
I —— /M2 minor diameter 79. 485/78. 925

WELER pin diameter 8.128
76 MHRWER dianeter over pins
97.084/97. 030

S72*% DIN 5480 W85 X3X 27X 7h

%¥fi/mounting face

H-HMcHD200-S73

=3 1E4/Spline:
10-92b12X 82b12X 128

95

44.4

\ | ko2 9,

%% /mount ing face

H-HMCHD200-T72

A RT/key size
22. 288 & wide
58 5 1648 F thick

E __ -‘g
1
12 M42x2
- FHIREE slotted nut
= 722481 I thick 61

65 A/F

gass

{ REFERENCEDATR)

298.044

184.4 lGL

M /mounting face

=1: 10

T e ron

ONH-H




H-HMC200&4%!ll/H-HMC200 Series

STFDHD200-P72 ‘ H-HMC200-P73 ‘
2
oo o
LOI BHRT /key size g
o~ 2590 B wide = R key size
- 18y thick = S 23 5 wide
p— 165® B thick
166 —
L—’ 5 114.3 4
5 ©
BN BN
B181 s
97 =
T wv
a 0 I
22035 1659, =
% /nount ing face %¥iili/mounting face

H-HMC200-P76 H-HMC200-T73
8
C+5o
<+ | BEIR /key size
g»_ N 241 3 wide
v 165" JE thick
— - BIOR T /key size
1302, 22.2,0 % K wide
5 1658 & thick
M)
5
88 58 \ =
[ele] )
IS w12 N wazx0
| 2 s
o 185 = e - TR slotted nut
Z4¢[f /mounting face £ B thick 61
A=y 65 A/F
164 6]
[% 4% /mounting face
~11: 10
H-HMCHD200-T75 |
o
By
@ 7
- Rn‘/key size
| 2880 # wide
Lo 18.9 1 B thick
— 1 =
T o 88
| - s é
S E
12 N\-Maz2x2
o et
5 iopic e AR ST1Y/S72" MARATLE
Notes: S§71*/ S72*=Standard Spline Shaft
224.5 61
124 /mount ing face

=3a1: 10

o3 IR



H-HMC200%4%!]/H-HMC200 Series

H-HMCcMC200 5Pz B 223 R 51/ H-HMc 200 Installation Dimensions

i tH i O A FO2BRI =3€ R <t/ FO2B Distributor

8254
84
|
2-2.7

4 /mounting face

489

ONH-H

372,

2-932 [ 47. ; v
2-932_ | 7.6 | 476 )

44.4

f

\
VN

: 50.8 \lQ
6-M10x16 i R

—

Y I (04



__ H-HMC200%%l/H-HMC200 Series

H-HMC200 4ME R £23£ R~/ H-HMCc200 Installation Dimensions

# ik O FO1 fy%&4E R~F/ FO1 Distributor

%%l /mount ing face

___{}

| il |

;

—LE
O

438

|
|
|
|
|
l 346
|
!
|
|
|

46.5
30.2
<+
~ e}
B
@ oo
™~ Ve \
o [fH {—|‘ +
o 1 Y
OO
[ v o - 2 N
00
N Nap. G
ul
o1 QO
2-932
30.2
8-M12x27

o5 IR



H-HMC200&%lI/H-HMC200 Series . .

H-HMC200 4PME R 223 R~/ H-HMC200 Installation Dimensions

i ik O A F01BRIR % R <1/ FO1B Distributor

2-2.4

2—940.6

et LT

3 | | N
g I
Dl | | &
| \
I i
| | T
| \ =
| | O
! j 438
| ‘ 365
| |
8.9 50.8 50.8
6—M10x16 Vi
i
© )
ol ¥ | .
N ¢
6T © ST 04
2—928
60.3
129 ||




H-HMC270%&%!/H-HMC270 Series

F AR S# / Technical Specification

BN HE
Nominal
Displacement mi/r 4600 | 4100 | 3600 | 3300 | 3000 | 2600 | 2300 | 1900 | 1600 | 1400 | 970 680 500 340 170
BRI
Ordering Code 3 4
HE
Displacement

RS
Unit Torque

mi/r 4597 | 4086 | 3632 | 3291 | 2951 | 2610 | 2270 | 1930 | 1646 | 1362 | 965 681 500 340 | 170/0

N.m/MPa | 657 585 514 | 460 | 419 | 356 310 259 210 168 108 73 47 24 0

RERE )
Max. Speed r/min 108 120 135 145 165 180 215 240 290 315 315 315 315 315 900

B = KW 123 115 104 97 90 83 76 68 59 48 37 25 18 8 0
Rated Power

RARNE

Max. Power

HEEh
Rated Pressure
=mEh
Max. Pressure

KW 153 149 142 136 129 122 112 102 91 81 68 47 32 12 0

MPa 23 23 23 23 23 23 23 23 23 23 23 23 23 23 1.5

MPa 275 | 275 | 275 | 275 | 2765 | 275 | 275 | 275 | 275 | 275 | 275 | 275 | 275 | 275 15

* H-HMC 270HE B 1)1%$% 55 B/ H-HMC 270 displacement options

KHER# / Large Displacement: 4600, 4100, 3600, 3300
/NHEE S / Small Displacement: 3300, 3000, 2600, 2300, 1900, 1600, 1400, 970, 680, 500, 340, 170, O

=2 R 32 & / Control Schematic(4&#347i2/Ordering Code 8):

SR _ PCHpzR c- RERzE
Control by port pc

"~ Control by A or B

~*" Control by external

AP
1 DR
/THE

S| S
P1  BI Tl

AO RS _BORER
Control by port B

107 I T



H-HMC325%5l/H-HMC325 Series

F AR S# / Technical Specification

BN HE
Nominal
Displacement ml/r 5300 | 5100 | 4900 | 4600 | 4100 | 3600 | 3300 | 3000 | 2600 | 2300 | 1900 | 1600 | 1500 | 1400 | 970 | 680 | 500 | 340 | 170
HEFRIR
Ordering Code 3 4
HiE
Displacement

B{THE
Unit Torque

BEE
Max. Speed

TR o

Rated Power

BAE

Max. Power

HEED
Rated Pressure
BREN
Max. Pressure

mi/r 5335 | 5108 | 4937 | 4597 | 4086 | 3632 | 3291 | 2951 | 2610 | 2270 | 1930 | 1646 | 1532 | 1362 | 965 | 681 | 500 | 340 | 170/0

N.m/Mpa | 763 | 731 | 706 | 706 | 657 | 514 | 460 | 419 | 356 | 310 | 259 | 210 | 196 | 168 | 108 | 73 | 47 | 24 0

r/min 90 | 105 | 110 | 110 | 108 | 135 | 145 | 165 | 180 | 215 | 240 | 290 | 315 | 315 | 315 | 315 | 315 | 315 | 900

123 | 123 | 123 [ 123 (123 (104 | 97 | 90 | 83 | 76 | 68 | 59 | 54 | 48 | 37 | 256 | 18 8 0

KW 153 | 153 | 153 | 153 | 153 | 142 | 136 | 129 | 122 | 112 | 102 | 91 87 | 81 68 | 47 | 32 | 12 0

MPa 23 | 283 | 23 | 23 | 23 ( 23 | 23 ( 23 | 28 | 23 (23 | 23 ( 23 |15 | 23 | 23 | 23 | 23 | 1.5

MPa 275|275 (275|275 (275|275 |275|275|275 (275|275 |275|275|275 275|275 (275|275 | 15

* H-HMC 325HF B I3 % S8 B/ H-HMC 325 displacement options

KHE®Y / Large Displacement: 5300, 5100, 4900, 4600, 4100;
/Ry / Small Displacement: 3600, 3300, 3000, 2600, 2300, 1900, 1600, 1500, 1400, 970, 680, 500, 340, 170, O

ONWH-H

=4 I B / Control Schematic(4R#347iR/Ordering Code 8):

b/ B PCHM=EY W) =R
Control by port pc

" Control by A or B
Pl A AP

" Control by external

[ A R
Al Pl BLTI

_n. AARER g_BHREE
Control by port A

A P2




H-HMC270/325%%l/H-HMC270/325 Series

H-HMC270 4 B £23£E R~/ H-HMC270 Installation Dimensions

i i O 5 FO3RY 2= %% R <F/With FO3 Distributor

223l /mounting face
3-G3/4" *0 8712 o
AE e or 7L b
55 ~. 4 BE@/P.C.D 520.740.2
?| o 36.5 | i
= i Rotati
o ~—Fo) 1 < A
5| asel= Fany M20 \ ##/Flow direc
8| RO (@ e
\ oo
r 1A= iR 2
ool F<B5 |2 2 ,
f 5 J? Y 2 30 S /B < <—<ilfiffi/Flow direct
/ /ﬁrﬂ Rotation
8-m16x35 /1| | 4‘ ] l 21 direction
. = 32
2-938 e 51 g
R — )
12320 Y | 37max o
430 174
510 220

570MAX

*O A ERUNF3/4"-16# 3/Option: UNF3/4"-16

H-HMC325 4p I K L3 R~/ H-HMC325 Installation Dimensions

i O A FO3R9 3 R ~F/With FO3 Distributor

451 /mounting face

3-C3/4" *0 7—9821 $4i/equi-spaced
PRt P | T A /momnt ing holes
528 I 43 BE/P.C.D 520.740.2
? © 36.5 | .| i i
=1 \ HEM Rotation
0| < IR - M20 \ directio
> '05" () Rl g < <t g 333 /Flow dire
M =1 ] 25
2.9 nles &
= nam Te) i o - =
f ( AR S i
1 v‘r/? rg 30 i g < <— <—ififli/Flow dire
HEF Rotation
8—M16 X35 ! 24 y o isottan
[79.
2-038 . 52
37MAX
430
510

570MAX

DA EUNF3/4"-163:%/Option: UNF3/4"-16

100 IR T



H-HMC270/325%%ll/H-HMC270/325 Series

BEEHI A Y2 R~/ Variable Control Dimensions gsmisworering code )

AWy &3 R ~F/Dimensions B&C&DH %3 R ~/Dimensions
3
6.8
(N 20.8 g
Lo} ~
Ml o 10.7
Y
3-61/4"X15 4 Bl 0 o
Control interface, =
™\ 1232 2-G1/4"%15 6.05
BRI/ -
mounting face 32:5
232
FLHHE/
mounting face
H-HMC270&H-HMC 325 #i tH il i %3 R ~F/ Shaft Options@smisioreing codes)
H-HMC270/H-HMC325-P71 H-HMC270/H-HMC325-P73 H-HMC270/H-HMC325-S71*&S72* ‘
o I
8 B 1
o9 Sol FEi@/Spline: T
0 SRR o S71* BS 3550-1963
o i § /_;lig:]"};j;k }',dSI ¢ FES1ffipressure angle 30° Z
A BEIRY/key size o “’}‘],e Si¥inunber of teeth 20
—F 258 052 B wide —— 65" & thick #B4pitch 6/12 O
955 148, M thick | Kfuajor diameter  87.953/87.825
] 140.2 5 76 WiFgiEhEorn dianeter 80264
i /MEninor diameter 79, 485/78.925
| #i4tERpin dianeter 8.128
-1 R E Bdiameter over pins
97. 084/97. 030
o5 o =8 g8 gf’f $72% DIN5480 W90 X4X21X7h
o) o7 g3 NI
102 ~ o nl B P S
2 = 0
|| 139.59 5 || 189.5-1.3 - 139.59;
A
¥ /Mounting face | EA Mounting foce Z¥%if /Mounting face
H-HMC270/H-HMC 325-Q71 H-HMC270/H-HMC325-T71 H-HMC270/H-HMC 325-T72
(=
85.6 oS o9
6.4 b E
g (LQ 135:4 6.3 ?Q 133.4 6.3
P3E@/Female Spline: = IR /key size —— BRI /key size
Q71 DIN5480 55 25.55% % wide 3 25.50% % wide
W75x3x24x9H 'i’m'*',’ 17.529% & thick 'I ‘JLEO, 176288 b thick
g____" of = = -__.’___
i 4 % LT/ o 3
'g) SE Te) o0
X o g 5 o))
12_JIANwaze [ 112 ”X\¥ M42x2
= FFi#RE slotted nut 46.2 T FFES slotted nut 45.2
57416 B thick 57. 15 A/F | 83 5+ [ thick 57.15 A/F
0 - L] L | .
50.8 95 183 87 195 67
44 Mount ing face ¥l /mounting face 4%l /mounting face
=311: 10 =31: 10

FERE: ST1%/S72* AR
Notes: S71*/ 872*=Standard Spline Shaft

I I 10



H-HMC270/325%&%1/H-HMC270/325 Series

H-HMC270/325 4 K £23E R~/ H-HMC270/325 Installation Dimensions

Bt ik O 3 FO3B#I =% R ~F/ FO3B Distributor

2—9¢45.8

=iy

109

3311

|

|

|

|

|

|

|

|

T
@

|

424l /mount ing I

504
416
f'—_—_/
R16 ] 60.3 60.3
N
~
© ©
i Yo e
IR A
N
(| 66.8 \w
6-M10x16, T~
157 i

111 I





